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[Q1] (i) Write the converse and negation of the following statement:

If x is negative and x? =4, then x=-2
(i1) Show that: the statement
(P9 2> (pvq) isatautology.

[Q2] (i) By using mathematical induction, show that:
if q;,94,.-,q, are statement variables then

~(@ AQy A AQy)E~qV ~(Qy VY ~ Q.

(ii) Determine whether or not the following argument is valid:
~rVv~(q

p—>(qAr)
~Pp

[Q3] (i) Find a disjunctive normal form for the Boolean Function :
P(X,y,z)=(xAy) vz

(i1) Design a logic circuit that inputs the values of three variables x,y
andz andoutputa 1 iff x>z.

(Using Karnaugh Maps to simplify)
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Mansoura University First term 2009-2016

Faculty of Science . Time Alowed Two Hours
Mathematics Department Subject Computer Science2(u241) Date 9- 1 -2011
Final examination second level <lualy) el Full marks 60
Answer the following questions: ( Calculator not Allowed)
Question One : (20 marks)

List the algorithm of solving 2™ order equation Ax* + Bx + C =0 and write a VB.NET
windows application to Solve the equation for any coefficient A, B and C.
Question Two (25 marks)

Design a VB.Net program to create simple calculator that performs basic
mathematical operations

Question Three (15 marks)
a- Design a program to calculate the area of a triangle using the formula:

area=./h(h—a)h-b)h—-c) , where a, b and c are the side lengths and
h=(a+b+c)/2. (6 marks)

b- Choose and write the answer 9 marks)

1~ AR mwmmmees can be described as the set of steps used to solve a
problem

A) Algorithm
B) Pseudocode
<) Logic Flow Diagram
p) Problem-space definition
2- What value is stored in a variable of type Single if we try to
assign the variable to the value 6347

" p) 634
B) 634.0
¢y 0.00634

© py 6.34

3- If you wanted to modify the characteristics of a control that you have used in
your Visual Basic .NET project, you would use this tool:

A) Control editor
B) Properties editor
) Characteristics detail

D) Status bar

Prof H N Agiza
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